EARAROBREBRT —5 XN—ZXBISH—F

2024558188 (£) 3EHAE4H

N 2 —/N— =TT FE1—2FHE U5R 2%

‘(fﬁ} W ‘I%EH?’JFE‘?] I

[AE%] 17%&:2,600,000 F ~ 2375:832,000H  37&:468,000H  4375:312,000 @ 5 3&:208,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
<~ A= |1&F — — BETE =
1111 |OrTYRS— o2 E{(}II 3 fze_; 3-3 36.6 2 (438) Eg}@ (£8)
R:RTT«4 BT L= [z e ]
_ = N o2 | JIEHE 57.6 1-2 39.4| - 1 489 | LHERE (EE)
20717 f_/_a‘?lja A o 55.0 ® (-) |Am=A
RiZa—AV—RF4 B:YI—Jr—FR HiE #%E
o 4 2 | BEE—E 58.1 4-4 38.5| — 5 484 | LLUE®E (£
3|5|5|7AAZ Y VI 5.0 @172 (- | @ MR
RN B—ILT o J—LRT7—L
°— /' — 8 2 | ZWES 58.4 2-1 40.1| - 3 484 | HHEBEF (E8)
f\\.—,L\t\ 5c . e 54.0 a 172 (o) |EnEE
RFARUAYRA NUFw kb B AT W B
~ HBEA 59.2 6-5 39.0| - 6 | 44 |LTibERE (£E)
ILYRI— * 2 | BY i
: 4 _y | AFEZE
REXPRIAVE BILVR—5Y ) | Rigreaom
X/ LD i 2 ﬁ%ﬁafﬂ 1:?(;.4 5-6 20.7| - 7 | 3% ;‘t%ggﬁ (E%i)
. 6 _ =
RT—RI—Z 8:T4—<NP IO~/ s
F—F—gU—L 2 | EERHE 1:?2).2 77 |44l - | 4| - 5}@;&@?; (=2
. 9 _ I\E5E:
RNVT=I=)b B:eAoVFvrTa =) e
@ 1—F—&RIEL
13—7—
20—F—
30—— 7,3,1,5,6,4,2
40— — 3,7,1,5,4,6,2
o ILRE
BB 1 280 | [ DA R 1-7 170M B & 1-7 320 3EE 1-5-7 630/
B B 1 1509 1=5 310 =51 1-7 540 3EH 1=7=3 2,830M
7 160 5-7 3504

ABIC OV TRUTEREERRODDZE. THRIIZEL.




